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Q1. With reference to Mauryan
Ruler Chandragupta, consider the
following statements:

1. Justin was a Greek writer who wrote
about the military conquests
of Chandragupta.

2. He liberated North-western India from
the rule of Seleucus.

3. Heruled over the entire Indian
subcontinent up to extreme south India.
How many of the above statements
are correct?

(a) Only one
(b) Only two
(c) All three
(d) None

Q2. Consider the following statements regarding
the Harappan Civilisation.
1. Hoe or Ploughshare has been found in

Kalibangan
2. Harappan  Culture  possessed = the
knowledge of Gold.

3. Harappans knew the art of making boats.
How many of the statements given above
are correct?

(a) Onlyone

(b) Only two

(c) All three

(d) None

Q3. Consider the following statements
Regarding Union Public
service commission.

1. The Chairman of the Union Public Service
Commission shall be ineligible for further
employment under the Government of a
State.

2. The Chairman of a State Public Service
Commission  shall be eligible for
appointment as the Chairman of the Union
Public Service Commission but not as the
Chairman of any other State Public Service
Commission.

Choose the correct statement/s

(a) Only1

(b) Only 2
(c) Both1and?2
(d) None of the above

Q4. With reference to Ramsar Sites in
India, consider the following pairs:
Sites Location

1. Aghanashini Estuary : Tamil Nadu

2. Ankasamudra Bird Conservation
Reserve: Andhra Pradesh
Karaivetti Bird Sanctuary :  Kerala
4. Longwood Shola Reserve: Tamil nadu

w

How many of the above pairs are
correctly matched?

(a) Only one pair

(b) Only two pairs

(c) Only three pairs

(d) All four pairs

Q5. Consider the following

statements regarding Directive
Principles of State Policy

1. DPSP"s are not enforceable in a court of
law

2. Principles laid under DPSP are
fundamental in the governance of the
country.

3. It shall be the duty of the state to apply
principle of DPSP in making laws.
How many of the statements given
above are correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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Q6. Consider the following statements
regarding Convention on the
Conservation of Migratory Species of
Wild Animals:

1. Itisthe only global convention specializing in
the conservation of migratory species, their
habitats and migration routes.

2. The Conference of the Parties (COP) is the
decision-making body of the Convention
which meets annually.

3. The Convention was established for the
conservation and management of terrestrial
and avian migratory species and the aquatic
migratory species.

How many of the statements given above are
correct?

(a) Only one

(b) Only two

(c) Allthree

(d) None

Q7. Consider the following statements in

the context of Global Wind Pattern.

1. The wind blowing almost in the same
direction throughout the year are called
planetary wind.

2. The winds which change their direction of
blowing with the changing seasons are
called periodic winds.

3. Horse latitude is a region of low pressure
humid air and associated with heavy rain
on the land.

How many of the statements given above
are correct?

(@) Onlyone

(b) Only two

(c) Allthree

(d) None

Q8. Depreciation of India’s currency will likely to
result in which among the following?
1. Increase in inflation rate.
2. Competitive Export.
3. Make external debt-servicing
more expensive.
How many of the statements given above
are correct?
(@) Onlyone
(b) Only two
(c) Allthree
(d) None

Q9. Consider the following statements:
1. Great Indian Bustard, Lesser Florican and
Bengal Florican are listed in Schedule I of
the Indian Wildlife (Protection) Act, 1972.
2. The IUCN Status of Great Indian Bustard,
Lesser Florican and Bengal Florican is
Critically Endangered.
Which of the statements given above
is/are correct?
(@) 1only
(b) 2 only
(c) Bothland2
(d) Neither 1 nor 2
Q10. With reference to Hydro
chlorofluorocarbon (HCFC)-141
b Consider the following statements:

1. HCFC-141 b is one of the most powerful
ozone-depleting chemicals after
Chlorofluorocarbons (CFCs).

2. Itis mainly used as a blowing agent in the
foam manufacturing industries.

Which of the statements given
above is/are correct?

(@) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2
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Q11. Consider the following statements
regarding sculptures of the
Mathura school:

1. The sculptures were influenced by all
three religions Buddhism, Hinduism, and
Jainism.

2. This school was patronized by Kushan
rulers.

Which of the given statements
is/are correct?

(@) 1lonly

(b) 2only

(c) Both1&2

(d) Neither 1 nor 2

Q12. Consider the following statements
regarding administration of Tribal Areas
as per Indian Constitution

1. The Tribal areas in the four States of
Assam, Meghalaya, Tripura and Mizoram
have been constituted as autonomous
districts and fall outside the executive
authority of the state concerned.

2. The President of India is empowered to
organize and reorganize the autonomous
districts.

Select the correct statement/s
(@) Only1
(b) Only 2
(c) Both
(d) None

Q13. "In how many of the following activities
are Indian Remote Sensing (IRS)
satellites used?

Assessment of crop productivity
Locating groundwater resources

Mineral exploration
Telecommunications

Traffic studies

v W=

()

How many of the statements given
above are correct?
Only one

(b) Only two
(d) ONLY three
(d) ALL

Q14.

(@)
(b)
(©
(d)

Consider the following statements
regarding Competition (Amendment)

Act, 2023:

Transactions of 2500 crores or more in
case of acquisition, merger or
amalgamation now require approval of
the Competition Commission of India
(CCD).

It empowers CCI to appoint the Director
General for conducting an
investigation/enquiry into contravention
of the provisions of the Competition Act,
2002.

It has introduced a limitation period of
two months for filing complaints before
CCL

It has introduced a settlement and
commitment mechanism for a party
under inquiry.

How many of the statements given

above are correct?

Only one
Only two
ONLY three
All Four
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Q15. Consider the following pairs:
Directive Principle : Law implementing it
1. Article 39A: Legal Services Authority
Act, 1987
2. Article 40 :Constitution
(73rd Amendment) Act
3. Article 41 : Narcotic Drugs
and Psychotropic Substances Act,1985
4. Article 47 : National Rural
Employment Guarantee Act, 2005
How many of the above pairs are
correctly matched?
(@) Only two
(b) Only three
(c) All four
(d) None

Q16. GDP and GNP are indicators that assist
to find out the economic condition of
a nation. Consider the followings
statements in regard to them:
1. GDP is the total value of goods and
services produced within the
geographical boundaries by the citizens
of a nation.

2. GNP is the total value of goods and
services produced by the people of a
nation. It does not matter whether the
goods/services are produced within or
outside of that nation's geographic
boundaries.

Which of the above given statement
(s) is/are correct?

(@) 1only
(b) 2only
(c) Both

(d) None

Q17. With reference to National Efficient

Cooking  Programme, consider the
following statements:

1. This programme was launched by Energy
Efficiency Services Limited (EESL).

2. It introduces induction-based cook-stoves,
offering a cost advantage of 25-30% over
traditional cooking methods.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2only

(c) Both1and 2

(d) Neither 1 nor 2

Q18. Consider the following statements
with regard to Writ Jurisdiction of
the Judiciary
1. Writ jurisdiction of High court is
concurrent with respect to writ
jurisdiction of Supreme Court.
2. Parliament can confer on the Supreme
Court to issue writs for other purposes
apart from fundamental rights also.

Choose the correct codes from the
below options

(@) 1only

(b) 2 only

(c) Both1land?2
(d) Neither 1 nor 2
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Q19. The components of balance of payments
are:

1. Current Account

2. Capital Account

3. Financial Account

4. Net Errors and Omissions

5. Official reserves
How many of the statements given
above are correct?

(b) Only one

(c) Only two

(d) ONLY three

(e) ALL five

Q20. Consider the following statement
about Allauddin Khilji.

1. Allauddin’s southern expedition was led
by Malik Kafur.

2. Allauddin’s established direct control
over the defeated states of the Deccan.
Which among the following

statements are correct?

(@) Only1

(b) Only 2

(c) Both1and?2

(d) Neither 1 nor 2

Q21. Consider the following components:
1. Consumption expenditures
2. Private domestic investment

3. Government expenditure

4. Netexports

5. Income earned by residents from
overseas investments

6. Income earned by foreign residents.
How many of the above components
are included in the calculation of
Gross National Product?

(a) Only three

(b) Only four

(¢) Only five

(d) Allsix

Q22. Consider the following statements

with respect to ‘Tropical cyclones’:

1. Upper level tropospheric divergence
reduces the intensity of tropical cyclones.

2. Eye of the tropical cyclone is the region of
highest temperature.

3. Higher variation in vertical wind speed
reduces the intensity of tropical cyclones.
How many of the above given
statements are not correct?

(@) Onlyone
(b) Only two
(c¢) All three

(d) None
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Consider the following statements:
Statement I:

Laterite soils are rich in iron oxide
and aluminium and acidic compounds.
Statement II:

They are deeply weathered soil

and experience pronounced leaching.

Which of the following options are

Correct in reference to above

given statements?

Both statement I and statement I1

are correct and statement II is the
correct explanation for statement I.
Both statement I and statement II
are correct and statement Il is not
the correct explanation for statement I.
Statement I is correct but statement II
is incorrect.
Statement I is incorrect but statement II
is correct.

Which of the following are types
of batteries used in EVs?

Lead Acid

Nickel Cadmium (NiCd)

Nickel Metal Hydride (NiMH)
Lithium - ion (Li- ion)

How many of the statements given
above are correct?

Only one

Only two

ONLY three

ALL FOUR

Consider the following statements:
Madan Lal Dhingra founded the Indian
Home Rule society in London.

Mitra Mela was an association set up by
Pramathanath Mitra.

3. Anushilan Samiti was a secret organization
set up by Sachindranath Sanyal.
How many of the statements given
above are correct?
(@) Only one
(b) Only two
(c) All three
(d) None

Q26. With reference to various initiatives
dealing with cybercrimes in
India, consider the following statements:

1. Cyber Safe Women Initiative of Ministry
of Women and Child Development aims to
spread awareness against atrocities
committed against children and women
through cyberspace.

2. Cyber Crime Prevention against Women
and Children Scheme (CCPWC) of
Ministry of Home Affairs aims to have an
effective mechanism  to handle
cybercrimes against women and children.

3. Cyber Dost is a Twitter handle launched
by Ministry of Electronics and
Information Technology to spread
awareness about cybercrimes.

How many of the statements given
above are correct?

(@) Only one

(b) Only two

(c) All three

(d) None
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Q27. Consider the following statements
about Portuguese impacts on Indian
trade, society and politics

1. They had helped in transmitting the
agricultural products like potatoes,
tobacco from America to India.

2. Science and technology which had
grown in Europe was also transmitted to
India by them.

3. Opened India’s trade with Japan.

How many of the statements given
above are correct?

(a) Onlyone
(b) Only two
(c) All three
(d) None

Q28. Recently, the M23 rebellion group
was seen in the news. This group is active
in which of the following countries?

(a) Palestine

(b) Democratic Republic of Congo
(c) South Sudan

(d) Somalia

Q29. With reference to online gaming in
India, consider the following statements:

1. Both the game of chance and the
game of skills' come under the
purview of goods and service tax.

2. Both the game of chance and the
game of skills are levied with tax
deducted at source (TDS).

3. Both the game of chance and the
game of skills are legal in India.

How many of the above statements
are correct?
(a) Only one

(b) Only two
(c) All three
(d) None

Q30. With reference to the Buddhism,

consider the following statements:

1. [Itrejected the law of karma.

2. It preached nirvana, the ultimate goal in
the life of a man.

3. Itlaid great emphasis on the authority of
the Vedas.

4. The Sangha had the power to punish its
members.

How many of the statements given
above are correct?

(a) Onlyone

(b) Only two

(c¢) Only three

(d) Allfour

Q31. Consider the following measures:
Increase in product taxes

Increase in production taxes

Decrease in subsidies

Curbing Limits on Productions from
Factories

How many of the above-mentioned measures
help in widening the gap between the Gross
Domestic Product (GDP) and Gross Value Added
(GVA)?

S W=

(a) Only one
(b) Only two
(c¢) Only three
(d) All four
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Q32. Consider the following statements
regarding ‘Government of India
Act 1858'.
1. [Ittransferred the power from East India
company to the British crown
2. It provided an office for Secretary of
State for India in London
3. The members of Court of Directors and
Board of control were increased.
How many of the statements
given above are correct?
(@) Onlyone
(b) Only two
(c) Allthree
(d) None

Q33. Consider the following satements
regarding Minimum Support Price
1. It is declared by Government once in
every five years.
2. Itis an incentive to farmers for increasing
the production of crops.
3. Itis announced after sowing season.
How many of the statements given
above are correct?
(a) Onlyone
(b) Only two
(c) All three
(d) None

Q34. With reference to Montreal protocol

(@)
(b)

consider the following statements:
It deals with the regulation of production
and consumption of Ozone Depleting
Substances (0ODS).

Though Universally ratified, it is not
binding on the parties to the convention.
It has a stepwise mechanism of targets
based reduction in Ozone Depleting
Substances with common but
differentiated responsibilities.

How many of the above statements

are correct?

Only one

Only two

(c) All three

(d)

Q35.

s W N

(@)
(b)
(©
(d)

None

Which among the following
indigenous tribes belongs to Andaman
& Nicobar Islands?

Jarawas

Onges

Shompens

Apatani

How many of the above statements
are correct?

Only one

Only two

ONLY three

ALL
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Consider the following statements:

1. Congress-Khilafat Swaraj Party was

formed in 1922-23 with Motilal Nehru as
the president and C.R. Das as one of the
secretaries.

2. The Swaraj Party was to function as a
group within the Congress. It accepted
the Congress program except in one
respect that it would take part in Council
elections.

Which of the above statement(s)
is/are correct?

(@) 1only

(b) 2 only

(c) Both1and?2
(d) Neither

Q37.

(@)
(b)
(©
(d)

Q38.

(@

v W

Rainbow revolution is associated
with which of the following?
Edible oils
Food grains
Livestock
Fruits and vegetables

How many of the above statements
are correct?

Only one
Only two
Only three
All

‘Photochemical Smog’ has become a
Major pollutant across the cities in
the world. Photo -chemical Smog
forms when:

Sunlight and heat react with

pollutant gases and fine particles in

the atmosphere.

(b) The ground level ozone reacts with

(©)
(d)

Q39.

()
(b)
(©)
(d)

Q40.

()

(b)

(©

(d)

the suspended particulate matter in
the atmosphere in the presence

of sunlight.
A primary pollutant is directly from
various ground sources.

None of the above.

Consider the following metals:

. Lithium
. Calcium

Sodium
Potassium

How many of the above are the

Alkali Metals?
Only one
Only two
Only three

All four

Which of the following statements
is correct with respect to the
Palermo Convention?

[t is a convention against
Transnational Organised Crime
It is a convention to preserve the
cultural heritage during armed
conflict post World War I1

[t is a convention to protect
building dedicated to religion,art
and science

[t is a convention against

land degradation.
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Q41. How many of the following enzymes
is/are part of the digestive system?
1. Trypsin
2. Gastrin
3. Ptyalin
4. Pepsin
How many of the above statements
are correct?
(a) Only one
(b) Only two
(c) All three
(d) None

Q42. Consider the following statements

with reference to the different types

of intellectual property:

1. Copyright is an exclusive right granted for
an invention.

2. Trademark is the sign used on goods with
specific geographical origin along with its
unique characteristics to that place of
origin.

Which of the statements given above is/are
correct?

(@) 1only

(b) 2 only

(c) Both1and2
(d) Neither 1 nor 2

Q43. Consider the following statements

in relation to Startup India Seed

Fund Scheme:

1. It aims to finance startups for the
development of prototypes and proof of
concepts.

2. It recognizes startups that are formed
more than two years while filing
applications for funding.

3. It prefers startups that provide solutions in
the oil, gas sector etc.
4. It is an initiative under the Ministry of
Corporate Affairs.
How many of the statements given
above are correct?
(a) Only one
(b) Only two
(¢) Only three
(d) Allfour

Q44. Consider the following statements:
1. The Constitution has prescribed a term
of five years for Lok Sabha.
2. The term of Lok Sabha cannot be
extended beyond 5 years under

any circumstance.

3. Whenever the Lok Sabha is dissolved,
the Speaker does not vacate his office and
continues till the newly-elected Lok Sabha
meets.

Which of the statements given above is/are
correct?

(@) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2and3
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Q45. Consider the following pairs:
Body : Constituted under
1. Central Ground Water Authority : Water
(Prevention and Control of Pollution) Act,
1974
2. Bureau of Water use Efficiency : National
Water Mission
3. Central Water Commission : Ministry of
Jal Shakti
How many of the above pairs are matched
correctly?

(a) Only one pair

(b) Only two pairs
(c) All three pairs
(d) None of the pairs

Q46. Consider the following statement/s:

1. NABARD was established in 1982 with it’s
headquarter in New Delhi.

2. Itis the apex body for coordination of all
Institution involved in Rural Financing
process.

3. NABARD is the only sole agency
responsible for Rural Financing.

How many of the statements given
above are correct?

(@) Only one
(b) Only two
(c) All three
(d) None

Q47. Which of the following steps helps in
increasing the efficiency of Public Sector
Units (PSUs)?

1. More autonomy to PSUs in taking
Managerial decisions.

2. Shedding of ownership by the
Government.

3. Selling off part of equity of PSUs by the
Government.

How many of the statements given

above are correct?

(a) Only one
(b) Only two
(c) All three
(d) None

Q48. Consider the following statement/s
regarding the Development of Judiciary:

1. William Bentinck created Sadar Diwani
Adalat (Criminal Court) and Sadar
Nizamat Adalat (Civil Court) at Calcutta.

2. Cornwallis Code separated executive
from Judiciary.

3. The Act of 1833 provided for constitution
of Law Commission.

4. The Indian High Court Act of 1861
established the Federal Court at Calcutta
in 1937.

Which of the above statement/s is/
are incorrect?

(a) 1and 2 only

(b) 2and 3 only

(¢) 1and4 only

(d) 2and4 only
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Q49. Which of the following statement/s
are true about the militant nationalists
or Extremists?
1. They believed that Indians themselves
must work out their own salvation
2. They were of the view that anarchy and
lawlessness would return if British were
forced to leave India.
3. They glorified Indian history and past and
considered Indian culture to be superior
over the western one.

How many of the statements given
above are correct?

(@) Onlyone

(b) Only two

(c) All three

(d) None

Q50. Consider the following statement/
s regarding
Reserve Bank of India (RBI)
1. It formulates and administers Fiscal
policy.
2. It handles the Borrowing programme of
Government of India.
3. Itis the custodian of Foreign exchange.
4. Itis a banker to Union government.

How many of the statements given above are
correct?

(a) Only one
(b) Only two
(c) ONLY three
(d) ALL

Q51 With reference to Warm Temperate
Western Margin (Mediterranean) Climate,
consider the following statements:

1. Precipitation is maximum in summer due
to on-shore westerlies.

2. There is an absence of local winds in this
climate zone due to less variation in
temperature and pressure.

3. Xerophytic plants are absent in areas
lying in this climatic region.

How many of the above given statements are
correct?

(@) Only one
(b) Only two
(c) All three
(d) None

Q52. Consider the following statements:

1. The minimum age prescribed for any
person to be a member of Panchayat is 25
years.

2. A Panchayat reconstituted

3. after premature dissolution continues
only for the remainder period.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2only

(c) Both1and2
(d) Neither 1 nor 2
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Q53. Whatis/are unique about ‘Kharai
camel’ a breed found in India?
1. Itis capable of swimming in seawater.
2. Itsurvives by grazing on mangroves.
3. It lives in the wild and cannot be
domesticated.
How many of the statements given
above are correct?
(@) Onlyone
(b) Only two
(c) All three
(d) None

Q54. Consider the following statements:

1. Itemerged in northern India during the
late Gupta period.

2. Itis distinguished by a towering shikhara
over the garbha griha.

3. Ithas a hall that incorporates space for a
large number of worshippers known as a
mandapa.

How many of the statements given above are
correct regarding the Nagara style of temple
architecture?

(@) Onlyone
(b) Only two
(c) All three
(d) None

Q55. Consider the following statements:

1. All Scheduled Commercial Banks are
mandated by the RBI Act 1934 to uphold
the Cash Reserve Ratio.

2. Similar to the Cash Reserve Ratio, the
Incremental Cash Reserve Ratio requires
banks to deposit a specific amount of
their funds with the RBI.

3. The need of Incremental Cash Reserve
Ratio is to manage inflation.

How many of the above statements are correct?

(a) Onlyone
(b) Only two
(c) All three
(d) None

Q56. With reference to State of the Rhino
2023Report, consider the following
statements:

1. It was released by the Ministry of
Environment, Forest and Climate Change.

2. According to this report, every species of
rhinoceros is classified as critically
endangered on the [UCN Red List.

3. The population estimates for Black rhinos
(Diceros bicornis) by the IUCN have shown a
rising trend over the past decade.

How many of the above statements
are correct?

(@) Only one
(b) Only two
(c) All three
(d) None
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Q57. Suppose you are the Governor of
RBI. Which of the following steps will
you take to cut down inflation in
Indian economy?
1. Use of WPI instead of CPI as standard to
calculate inflation.
2. Performing Open Market Operations
(OMO).
3. Increasing taxes so that people has less
money in their hand.
4. Increase in Cash reserve Ratio.
5. Increase in Repo rate.
Choose the correct ones:
(@) 2,4 and5 only
(b) 1,3 and 5 only
(¢) 1,2,3 and 4 only
(d) 2,3 and5 only

Q58. Consider the following statements:

1. The border between India and
Bangladesh is the lengthiest one that
India has with any of its adjoining
countries.

2. Khulna-Mongla Port rail line and Maitree
Super Thermal Power Plant are the major
ongoing projects between India and
Bangladesh.

3. India is Bangladesh’s largest export
destination in Asia.

How many of the statements given
above are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q59. Consider the following statements with

reference to the characteristics of non-
cooperation movement:

Middle-class participation was significant in
the movement.

2. Except in Madras, the council election

boycott failed.

3. Economic boycott was more intense and

successful.
How many of the above statements
are correct?
(@) Onlyone
(b) Only two
(c) All three
(d) None

Q60. With reference to coastal landforms,
consider the following statements:

1. Depth of Ria coasts increases towards sea
as opposed to Fjords where depth
increases towards inland.

2. Mountains are transverse to Ria coasts
but parallel to Fjords.

3. Estuarine coasts make better sites for
ports as compared to Fjords.

How many of the statements given
above are correct?

(@) Onlyone

(b) Only two

(c¢) All three

(d) None
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Q61. Which of the following statements is/
are correct?

1. Rajasthan has the highest reserve of

silver.

2. Andhra Pradesh has gold mines.

3. Kerala is a major producer of mica.

Select the correct answer using the
code given below.

(a) 1lonly

(b) 1and 2 only

(c) 3only

(d) 1,2 and 3

Q62. In the context of proposals to the use
Of hydrogen-enriched CNG (H-CNG) as
fuel for buses in public transport,

consider the following statements:

1. H-CNG is a blend of hydrogen and CNG,

the ideal hydrogen concentration being 18%.

2. The main advantage of the use of H-CNG

is the elimination of carbon monoxide

emissions.

3. Using H-CNG will allow for the utilization

of the existing infrastructure of CNG — buses

as well as the piping network.

How many of the statements given
above are correct?

(@) Only one
(b) Only two
(c) All three
(d) None

Q63. With reference to the parliamentary

proceedings, consider the following

statements:

The Office of Whip is not defined in the
Constltutlon but follows procedure laid out in
the statute.

2. Quorum in parliamentary committees is
needed only when committees are taking
decisions or adopting reports, and not
required in routine meetings.

3. As per the Constitution, any of the house

Secretariat has to give at least five days' notice
to the Minister concerned to answer any type
of question.

How many of the above statements
are correct?

(@) Only one

(b) Only two

(c) All three

(d) None

Q64. Consider the following provisions:

1. Disqualifications for membership of state
legislature

2. Qualifications of voters

3. Procedures for delimitation of

constituencies

How many of the above statements
are correct?

(@) Only one

(b) Only two

(c) All three

(d) None
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Q65. Consider the following objectives:

1. Development of quantum computers

2. Establishment of long-distance secure
quantum communications with other
countries

3. Establishment of inter-city quantum key
distribution

4. Development of Atomic Clocks for
precision timing

How many of the above are the objectives of
the National Quantum Mission (NQM)?
(@) Only one
(b) Only two
(c) Only three
(d) Allfour

Q66. With reference to the Foreign Direct
Investments (FDI), consider the following
statements:

1. Under the Automatic Route, only the
foreign investors require the approval
from the Reserve Bank or Government of
India for the investment, and not the
Indian companies.

2. Overseas Corporate Bodies (OCBs) are
also eligible for the investment in India.

Which of the statements given
above is/are correct?

(a) 1only

(b) 2 only

(c) Both1and2
(d) Neither 1 nor 2

Q67. With reference to IUCN status, consider the
following pairs:
Species : Their IUCN status
1. Dodo Critically endangered

2. Nilgiri Tahr Endangered
3. Sangai Deer Endangered
4. Western Tragopan Vulnerable

How many of the above pairs are correctly
matched?

(@) Only one pair
(b) Only two pairs
(¢) Only three pairs
(d) All four pairs

Q68. Consider the following statements:
1. Cyclical unemployment is a demand
deficiency unemployment.
2. Frictional unemployment can happen
even in a situation of full employment.

Which of the statements given above is/are
correct?

(@) lonly

(b) 2 only

(c¢) Both1and 2

(d) Neither 1 nor 2
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Q69. With reference to Defence Offset Policy,
consider the following statements:

1. Itwas established with the formulation of
Industrial Policy, 1956.

2. Ithelpsinreducing India’s import bills on
defence procurement.

3. It mandates the Central Government to
select an Indian enterprise to be the offset
partner.

4. It promotes joint ventures between the
original equipment manufacturers and
offset partners.

How many of the statements given above are
correct?

(@) Only one
(b) Only two
(c¢) Only three
(d) All four

Q70. Consider the following statements with
reference to the Gaganyaan Mission:

1. Its objective is to demonstrate the human
spaceflight capability by launching crew
members to high earth orbit.

2. The astronauts for this mission have been
trained in the Astronaut Training Facility
at NASA Johnson Space Center.

Which of the statements given above is/are
correct?
(@) 1only
(b) 2only
(c) Both1land2
(d) Neither 1 nor 2

Q71. With reference to Pradhan Mantri Kisan
Samruddhi Kendras, consider the following
statements:

1. They are one-stop shops for the purchase
of agricultural inputs.

2. They provide assistance for soil analysis.

3. They conduct weekly interaction with
farmers under Kisan Ki Baat.

4. They are operational under the
Department of Fertilizers.

How many of the statements given above are
correct?
(a) Onlyone
(b) Only two
(c) Only three
(d) Allfour

Q72. Consider the following statements
regarding Indian History Congress (IHC):

1. Itisthelargestassociation of professional
historians in South Asia.

2. It was founded in 1910 by Vishwanath
Kashinath Rajwade.

3. It aims to promote secular and scientific
writing of history.

How many of the statements given
above are correct?

(@) Onlyone

(b) Only two

(c) All three

(d) None
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Q73. With reference to the Global Environment
Facility (GEF), which of the following statements
is/are correct?

1. Itprovides grants to private companies for
projects that promote the objectives of the
international environmental conventions

2. Indiais a founding member of GEF.

Select the correct answer using the
code given below.

(@) 1only

(b) 2only

(c) Both1land?2

(d) Neither 1 nor 2

Q74.With reference to the Kumbh Mela, consider
the following statements:

1. It is the largest religious congregation in
the world.

2. It has been inscribed on the UNESCO's
Representative List of Intangible Cultural
Heritage of Humanity.

3. Apart from Prayagraj, it is also organized
on banks of Godavari River in Nashik and
Shipra River in Ujjain.

How many of the statements given
above are correct?
(@) Onlyone
(b) Only two
(c) All three
(d) None

Q75. With reference to Balance of Payments
(BoP) in India, consider the following:

1. External commercial borrowings
2. Foreign portfolio investment
3. External assistance like government aid

4. Foreign direct investment
How many of the above are included

in the capital account?

(a) Only one
(b) Only two
(c¢) Only three
(d) All four

Q76. In context of Nipah Virus, consider
the following statements.
1. It is transmitted by the fruit eating bats
that also transmits Ebola virus disease.
2. Human to Human transmission of this
virus is not possible.

Which of the statements given above is/are
correct?

(@) 1lonly

(b) 2only

(c) Both1and2
(d) Neither 1 nor 2
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Q77. With reference to exchange rate system in
India, consider the following statements:

1. India uses a fixed exchange rate system
since independence.

2. Fixed exchange rate is determined by
market forces and based on demand and
supply.

3. When the price of domestic currency in
terms of foreign currency increases, it is
called a flexible exchange rate regime.

How many of the above statements
are correct?

(a) Onlyone

(b) Only two

(c) All three

(d) None

Q78. With reference to the Household
Consumption Expenditure Survey (HCES)
2022-23, consider the following
statements:

1. It was conducted by the National Sample

Survey Office (NSSO).

2. The consumption basket of items has been
divided into three broad categories, namely,
Primary Articles, Fuel and Power and
Manufactured products.

3. Among the states, Monthly Per Capita
Consumption Expenditure (MPCE) is the
highest in Sikkim and lowest in Chhattisgarh.

How many of the above statements are correct?

(a) Onlyone
(b) Only two
(c) All three
(d) None

Q79. With reference to Qualified Foreign
Investors (QFIs), consider the following
statements:

1. It shall include individuals, groups or
associations, resident in a country that is a
member of the International Monetary
Fund.

2. Non Resident Indians (NRI) can make
investments by opening a demat account
through QFI Route and a portfolio
investment scheme route simultaneously.

3. The aggregate shareholding by all QFIs can
not exceed five percent of the paid up
equity capital of any company at any point
of time.

How many of the above statements
are correct?

(@) Onlyone

(b) Only two

(c) Allthree

(d) None

Q80. Consider the following pairs:

Power projects : Associated nation
1. Chukha Hydroelectric Project
Nepal
2. Punatsangchhu Hydroelectric Project
: Bhutan
3. Maitree Super Thermal Power Plant
: Bangladesh

How many of the pairs given above are
correctly matched?

(@) Onlyone

(b) Only two

(c) All three

(d) None
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Q81. Consider the following
1. Currency printing presses and mints have
been notified as ‘public utility service’
2. If a service is declared as a public utility
service then its employees are barred from
strikes and lockouts.

Which of the statements given above is/
are correct?
(a) 1only
(b) 2 only
(c) Both1and2
(d) Neither 1 nor 2

Q82. Consider the following inventions:
1. New method of agriculture
2. Any process for surgical treatment of
human beings
3. Cinematographic works
4. Inventions relating to atomic energy

How many of the above cannot be patented with
reference to Intellectual Property Rights in
India?

(a) Only one
(b) Only two
(¢) Only three
(d) All four

Q83. Consider the following pairs:

Port : Country where it is located
1. Jebel Ali Port United Arab Emirates
2. Fujairah Port Saudi Arabia
3. Haifa Port : Oman
4. Piraeus Port : Italy

How many of the above given pairs
are correctly matched?

(a) Only one
(b) Only two
(c) Only three
(d) All four

Q84. With reference to the United Nations
Educational, Scientific and Cultural
Organization (UNESCO), consider the
following statements:

1. Itis aspecialized agency of the United
Nations that promotes peace and security
through international cooperation in
education, sciences, culture,
communication and information.

2. The USA is not a member of UNESCO.

3. India has hosted the recent World
Conference on Culture and Arts Education
in February 2024.

Which of the statements given above is/are
correct?

(@) lonly

(b) 1and2only

(c) 2and3only

(d) 1,2and3
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Q85. With reference to the ecological term ‘ Food
Chain’, consider the following statements:

1. The habitat of an organism is a specific
place occupied by them in the food chain
of the ecosystem.

2. In aquatic ecosystems, the grazing food
chain (GFC) is the major conduit for
energy flow.

3. Detritus food chain (DFC) dominates the
energy flow mechanism in the terrestrial
ecosystem.

How many of the above given

statements are correct?

(a) Only one
(b) Only two
(c) All three
(d) None

Q86. With reference to the Black-Necked Cranes,
consider the following statements:

1. The Black-necked Crane breeding range
includes only India.

2. The Black-necked Crane is listed in
Schedule II of the Wild Life (Protection)
Act, 1972.

Which of the statements given
above is/are correct?
(a) 1only
(b) 2only
(c) Both1and?2
(d) Neither 1 nor 2

Q87. Consider the following statements
regarding Agricultural and Processed Food
Products Export Development Authority
(APEDA):

It has been entrusted with the
responsibility to monitor import of sugar.

2. Itis an autonomous society promoted by
the Ministry of Agriculture, Cooperation
and Farmers’ Welfare.

Which of the above statements is/ are correct?
(a) 1only
(b) 2 only
(c) Both1and2
(d) Neither 1 nor 2

Q88. With reference to the Subsidiary System,
consider the following statements:

1. Under this system the Indian state was
called ‘the protected state’ and Britain
was referred to as ‘the paramount power’,

2. Asper the system, the protected state had
to cut off its connection with all the
European powers.

3. The paramount power can always
interfere in the internal affairs of the
protected state.

How many of the above statements
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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Q89. Consider the following statements:

1. All species of vulture in India are critically
endangered.

2. All Indian Bear species are listed under the
Schedule I of the Wildlife (Protection) Act,
1972.

3. Snow leopards are found only in the western
Himalayas in India.

How many of the above statements
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q90. Consider the following statements:

1. The Constitution makes incumbent upon
the President to address both Houses of
Parliament at the commencement of the
first Session after each General Election.

2. Motion of Thanks on the address by the
President is an example of substantive
motions.

Which of the statements given above is/are
correct?
(@) 1only
(b) 2 only
(c) Both1and2
(d) Neither 1 nor 2

Q91. Consider the following statements:

Statement I:
Liquified Hydrogen is the most preferred
fuel for the cryogenic engines used in
satellite launch vehicles used by ISRO.

Statement II:
Hydrogen fuel generates the highest
exhaust velocity as compared to the other
fuels used in cryogenic engines of the
satellite launch vehicles.

Which one of the following is correct in respect
of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II are
correct and Statement-II is not the correct
explanation for Statement-I

(c¢) Statement-I is correct but Statement-II is
incorrect

(d) Statement-I is incorrect but Statement-II is
correct

Q92. With reference to Radioactive Pollution,
consider the followings:

Diagnostic medical applications
Atomic radioactive minerals
Cosmic rays

Radioactive elements

B w N

How many of the above are included in natural
sources of radioactive pollution?

(@) Onlyone

(b) Only two

(c) Only three

(d) Allfour
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Q93.

1.

(@)
(b)
(©
(d)

Q94.
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With reference to Silkyara Bend-Barkot
Tunnel Project in Uttarakhand, consider
the following statements:

It is a part of Chardham Mahamarg
Pariyojana.

The project will be implemented by the
National Disaster Response Force.

Which of the statements given
above is/are correct?

1 only

2 only

Both 1 and 2
Neither 1 nor 2

Consider the following statements
regarding Alluri Sita Rama Raju

He led the Rampa rebellion against the
colonial government’s restrictions on
podu cultivation.

. He was a firm believer in Gandhi’s

doctrine of non-violence.

Which of the statements given above is/are

(@)
(b)
(©
(d)

Q95.

correct?
1 only
2 only
Both 1 and 2
Neither 1 nor 2
Consider the following pairs:
Places in news Country
Sabratha Libya
Berdyansk  Russia
Palu Indonesia
Araku Sri Lanka

B w N e

Which of them are correctly matched?

(@ 1 and3
(b) 3and4
(o) 1,3and 4

(d 1,2,3and 4

Q96. With reference to the raptors, consider

3.

the following statements:

They play an important ecological role by
controlling the population of rodents and
other small mammals

Their conservation throughout their
range is covered under the auspices of
Bonn Convention.

All types of raptors are classified as
Critically Endangered under IUCN Red
Data Book.

How many of the statements given above are
correct?

(@) Onlyone
(b) Only two
(c) All three
(d) None
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Q97. With reference to inflation-indexed bonds
in India, consider the following statements:
1. They provide inflation interest by
providing higher interest over the current
inflation rate.
2. They are pegged with the Consumer Price
Index (CPI).
3. They can be traded in the secondary
markets.
4. They are eligible for repo transactions.

How many of the statements given
above are correct?

(a) Onlyone

(b) Only two

(c) Only three

(d) All four

Q98.Located in the Himalayan foothills, it is
contiguous with the National Park in
Bhutan. The park is known for its rare and
endangered endemic wildlife. It is a
UNESCO World Heritage Site, Tiger
Reserve, Elephant Reserve, Biosphere
Reserve, National Park and also a Wildlife
Sanctuary. It is famous for its population of
the Wild water buffalo, rare golden langur
and the red panda. The critically
endangered Pygmy Hog can be found here
only in the world.

Which of the following national parks is
described above?

(a) Manas National Park

(b) Khangchendzonga National Park
(c) Nokrek National Park

(d) keibul Lamjao National Park

Q99. Which of the following statements is/are
correct regarding the Food Safety and
Standards Authority of India?

1. Ministry of Food Processing is the
administrative ministry of FSSAI
2. Itissues food safety licence for food business
3. Itapproves the import of genetically
modified food in India

How many of the statements given above are
correct?

(@) Onlyone

(b) Only two

(c) All three

(d) None

Q100. With reference to the Pabna
revolt, consider the following statements

1. Itwas apeasantrevoltin Bengal.

2. The main cause behind the revolt was the
dismissal of tenants by zamindars from
their occupancy rights.

3. Kesab Chandra Roy and Sambhunath Pal
were prominent leaders of the revolt.

How many of the statements given
above are correct?

(@) Onlyone

(b) Only two

(c) All three

(d) None
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